il
W
St
%
I

1. TE4
THE4 AN 6 R RIRE A ERE T
T4 SRy R o R T L T 4k
2. THEHNE
1)  HEI4 Rl || EE ST E R P
2) £ I & HEETE
3) T i 135 H 4] H AFn 64E 8H 8H
= AF0 64124204
4) TEyE

ELAma  JuN TR )R




(IR VR Aol 7 i L T 44

B
T
iy
i
I

TH4 | B0 6 FERIRE NERER T4

TEHX4y « Tfd - FER B Az £ & F #m il N BN
JE K e = 20, 381, 838
Ak T = 17,510, 108
B AN = T = 17,510, 108 | B =14 5, 350 m2
(%)
TemPA T —J8 BT 0 D8 R w7 ASKE
o8 1Y (13) ;
HOE T (B eIH) 267 m3
(%)
TAT7 V% TEHREERE 2. 6km ;
RISy 267 m3
(%)
TAT 7 EIHEIFR (2. 35t/m3)
X R T 7 913, 900
X R T 7 913,900 |z X R 1,040 m
(%)
WA FE) R 15em JEL Smm PEAKMEEHIEHE
AR RRME X )R 520 m
(%)
)7 K (A FER 20em A
TE AT R itk T Y 903, 300
B EY T = 903, 300 | HLAR Y HfEA 30 i
(%)
Al (AL IR 30ALLE
A Y 1, 054, 530
A EE E T = 1,054,530 | Q1B E Em B 1 =
(&)
[ERANE Xy = 20, 381, 838
-1- E+A8m SN T S




(IR VR Aol 7 i L T 44

R PERE
THEL | A6 FERIRE N ERE T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
iR # 2V 1 4, 664, 800
e Tre: X 1 796, 800
R E20 1 142,000 | GEFR BRI LY 1 Ey
(F[#)
Hefi e ey 20 1 58,800 |3 Fs iRk AT I 1ERE A 1 =
BUGBREIUEL (REH L) 2V 1 596, 000
sty (R L) 2V 1 3, 868, 000
ol T 2V 1 25, 046, 638
TR e gL E20 1 10, 299, 000
T AT 2V 1 80, 002, 662
— e PR E20 1 13,017, 338
N E20 1 93, 020, 000

TAZIEE LN )R




(i WA A B i1 X

=+ /A = e
FEAENGRE e
T4 | B0 6 FE RIS NI ERE THE
TEHX4y « Tfd - FER B Az £ & #A i il A R
JE K e = 15,291, 158
Ak T = 12, 382, 218
BIHIA-N -V T = 12,382,218 | GIHlI4—n" -4 3,730 m2
(%)
TemPA N —J8 B7E4 0 S BRI 197" ASK
o8 1Y (13) ;
HOE T (B eIH) 186 m3
(%)
TAT7 V% TEHREERE 3. Okm ;
RISy 186 m3
(%)
TAT 7 EIHEIFR (2. 35t/m3)
X R T = 1, 089, 650
X H R T = 1,089, 650 | A=K ikt 1, 240 m
(%)
WA FE) R 15em JEL Smm PEAKMEEHIEHE
AR RRME X )R 620 m
(%)
)7 K GEEED) ER 20em B
TE AT R itk T Y 903, 300
B EY T = 903, 300 | HLfR sy BIEFE 30 i
(%)
Al (AL IR 30ALLE
A Y 915, 990
A EE E T = 915,990 | A3 iEFHEE i B 1 =
(&)
[ERANE Xy = 15,291, 158
-3 - E+A8m SN T S




(i WA A B i1 X

== /oA = =
FEAENGRE e
T4 | B0 6 FE RIS NI ERE THE
TEHX4y « Tfd - FER B Az W B & #A i il A BN
B R = 1 3, 664, 000
BISTIGE: = 1 608, 000
TERE 2 1 142, 000 | iRk buk e iy 2 1 =
(&)
BGRESGESE (5 L) = 1 466, 000
B (FEEHL) = 1 3, 056, 000
T = 1 18, 955, 158
Bl gy 2 1 8, 127, 000
T =5l = 1 27,082, 158

-4 - E ta2@d Ui




(MR VR R iy 7 P it X

=+ /A = B
FEAENGRE 7
T4 | B0 6 FE RIS NI ERE THE
TEHX4y « Tfd - FER B Az £ & #A i il A R
JE K e = 9, 557, 866
Ak T = 7,633, 136
BIHIA-N -V T = 7,633,136 | GIEIA-N" -4 2, 240 m2
(%)
TemPA N —J8 B7E4 0 S BRI 197" ASK
o8 1Y (13) ;
HOE T (B eIH) 112 m3
(%)
TAT7 Vb TEHREERE 9. 9km ;
RISy 112 m3
(%)
TAT 7 EIHEIFR (2. 35t/m3)
X R T = 456, 950
X R T = 456,950 | IR X HEIHR 520 m
(%)
WA FE) R 15em JEL Smm PEAKMEEHIEHE
AR RRME X )R 260 m
(%)
)7 K GEEED) ER 20em B
TE AT R itk T Y 903, 300
B EY T = 903, 300 | HLfR sy BIEFE 30 i
(%)
Al (AL IR 30ALLE
A Y 564, 480
A EE E T = 564, 480 | A iEFEE S 5 1 =
(&)
[ERANE Xy = 9, 557, 866
-5 - E+A8m SN T S




(MR VR R iy 7 P it X

== /oA = =
FEAENGRE e
T4 | B0 6 FE RIS NI ERE THE
TEHX4y « Tfd - FER B Az W B & #A i il A BN
B R = 1 2,417, 000
BISTIGE: = 1 288, 000
TERE 2 1 142, 000 | iRk buk e iy 2 1 =
(&)
BGRESGESE (5 L) = 1 146, 000
B (FEEHL) = 1 2,129, 000
T = 1 11,974, 866
Bl gy 2 1 5, 600, 000
T =5l = 1 17, 574, 866

-6 - E ta2@d Ui




